Causation Question writing frame
Explain why the role of church in medicine decreased in importance in the years 1250 to 1700. [12 marks]
	You may use the following in your answer:
· GIVEN REASON 1 medical training
· GIVEN REASON 2 William Harvey
You must also use information of your own.
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	Given Reason One
[Introduce and fully explain the first given reason]
[Use your own knowledge to explain the reason giving examples where possible]
	 Useful phrases
The first reason for…     This meant that…
This was important because… For example…
This led to….  As a result of… This is shown by…

	The first reason for the decline in importance of the church was the changes in medical treatment. For example, apothecaries and surgeons needed a licence in the Renaissance period meaning that they had to complete extensive training first. As a result the expertise of trained apothecaries and surgeons replaced the church as the main source of knowledge. In addition, physicians benefitted from developments such as the spread of new ideas from individuals such as Vesalius and the legalisation of dissection. This led to a decrease in the influence of the church as they remained loyal to the ideas of Galen despite these theories being proved wrong by scientists and anatomical study. Universities responded by offering medical degrees outside of church control which demonstrates the decreasing importance of the church. This reason links to the work of Harvey and the printing press as the new treatments embraced Harvey’s ideas and were able to bring new ideas into medical training by using the books made possible by the printing press.



	Given Reason Two
[Introduce and fully explain the first given reason]
[Use your own knowledge to explain the reason giving examples where possible]
	 Useful phrases
The second reason for…     This meant that…
This was important because… For example…
This led to….  As a result of… This is shown by…

	The second reason for the decrease in importance of the church was the discoveries and influence of William Harvey.  This was important because Harvey followed up the work of Vesalius to disprove many of the ideas of Galen that the Church continued to project as fact. Harvey promoted dissection as the key to medical progress yet the Church continued to oppose the practice of dissection. As a result of the success of Harvey other scientists were inspired to embrace observation and dissection as the key methods to improving understanding which significantly weakened the control of the church. This reason links to medical training and the printing press as Harvey’s ideas were being taught in medical schools by 1700 and printing presses enabled the sharing of Harvey’s discoveries on wider scale.











	OWN Reason Three
[Introduce and fully explain the first given reason]
[Use your own knowledge to explain the reason giving examples where possible]
	 Useful phrases
A final reason for…     This meant that…
This was important because… For example…
This led to….  As a result of… This is shown by…

	A final reason for the decrease in the importance of the church is the development of the printing press. This was important because it made it possible to spread ideas widely and quickly. For example, from 1665 the Royal Society published a journal called Philosophical Transactions  in which scientists could share their work and ideas. The journal  influenced scientists all over Britain to challenge ideas that had long been accepted as fact due to the influence of the Church.  This led to the Church being unable to prevent the publication of ideas it did not approve of and decreased the importance of the Church as a source of knowledge about medicine. This reason links to medical training and the work of Harvey as the printing press made it possible to provide training books based on new ideas by scientists such as Harvey.
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No rewardable material.

1-3

« Asimple or generalised answer is given, lacking development and organisation.
[A02]

« Limited knowledge and understanding of the topic is shown. [AO1]

« An explanation is given, showing limited analysis and with implicit or unsustained
links to the conceptual focus of the question. It shows some development and
organisation of material, but a line of reasoning is not sustained. [A02]

« Accurate and relevant information s included, showing some knowledge and
understanding of the period. [AO1]

Maximum 5 marks for Level 2 answers that do not go beyond aspects prompted by

the stimulus points.

« An explanation is given, showing some analysis, which is mainly directed at the
conceptual focus of the question. It shows a line of reasoning that is generally
sustained, although some passages may lack coherence and organisation. [A02]

« Accurate and relevant information is included, showing good knowledge and
understanding of the required features or characteristics of the period studied.
[A01]

Maximum 8 marks for Level 3 answers that do not go beyond aspects prompted by

the stimulus points.

10-12

« An analytical explanation is given which is directed consistently at the conceptual
focus of the question, showing a line of reasoning that is coherent, sustained and
logically structured. [A02]

« Accurate and relevant information is precisely selected to address the question
directly, showing wide-ranging knowledge and understanding of the required
features or characteristics of the period studied. [A01]

No access to Level 4 for answers that do not go beyond aspects prompted by the

stimulus points.





